Problem report for:

KalniaGlazelwdth,wghtl.ttf

shal: e0e/0fc/628d6e9493a00ea9f58464c2134/d/c0c
Family name: Kalnia Glaze

Version: Version 1.105

Parameters:
Error tolerance: 0.95
Kink—reporting aggressiveness: 0.5
Legend:
» Contour start point and direction
e Contour start point when the first two points overlap
» Contour start point in contours with wrong direction
Suggested new contour start point
e Point causing kink in the contour
() Kink artifact
. Colored contours: contours with the wrong order
[l Underweight contours

Tolerance: badness; closer to zero the worse
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Glyph name: paragraph tolerance: 0.25

Problems: contour_order, underweight, wrong_start_point

'wdth=125.0 midway interpolation
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G|yph names: b tolerance: 0.90

Problems: contour_order

'wdth=125.0 midway interpolation
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G|yp|"l names: q tolerance: 0.92

Problems: contour_order
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G|yph names: p tolerance: 0.92

Problems: contour_order
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G|yph names: thorn tolerance: 0.93

Problems: contour_order
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G|yph names: d tolerance: 0.94

Problems: contour_order
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Glyph name: asciitilde tolerance: 0.23

Problems: underweight, wrong_start_point

'wght=700.0’ midway interpolation
'wdth=125.0 wght=700.0’ proposed fix
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Glyph name: asciitilde.color1 tolerance: 0.23

Problems: underweight, wrong_start_point

'wght=700.0’ midway interpolation
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Glyph name: Islash.color1

Problems: wrong_start_point
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Glyph name: uni1E9E tolerance: 0.55

Problems: underweight, wrong_start_point
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'wdth=125.0’ proposed fix
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Glyph name: uni1E9E.color1 tolerance: 0.55

Problems: underweight, wrong_start_point
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Glyph name: sterling tolerance: 0.91

Problems: wrong_start_point

'wdth=125.0’ midway interpolation
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'wght=7/00.0’ proposed fix
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Glyph name: sterling.color1 tolerance: 0.91

Problems: wrong_start_point

'wdth=125.0’ midway interpolation
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Glyph name: section tolerance: 0.86

Problems: underweight

midway interpolation
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Glyph name: section tolerance: 0.53

Problems: kink, wrong_start_point

'wdth=125.0’ midway interpolation

'wght=7/00.0’ proposed fix
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Glyph name: section.color1 tolerance: 0.86

Problems: underweight
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Glyph name: section.color1 tolerance: 0.53

Problems: kink, wrong_start_point

'wdth=125.0’ midway interpolation
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Glyph name: Drinks

Problems: kink

tolerance: 0.55

midway interpolation
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Glyph name: Drinks tolerance: 0.55

Problems: kink

'wdth=125.0’ midway interpolation
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Glyph name: Drinks.colorO tolerance: 0.55

Problems: kink
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Glyph name: Drinks.colorO tolerance: 0.55

Problems: kink

'wdth=125.0 midway interpolation

'wght=700.0’ proposed fix
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Glyph name: DrinksO1 tolerance: 0.57

Problems: kink
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Glyph name: DrinksO1

Problems: kink

'wdth=125.0’

tolerance: 0.57
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Glyph name: DrinksO1.colorO tolerance: 0.57

Problems: kink

midway interpolation
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Glyph name: DrinksO1.colorO

Problems: kink
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G|yph name: k tolerance: 0.57

Problems: underweight
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Glyph name: k.color1 tolerance: 0.57

Problems: underweight
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midway interpolation
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Glyph name: f_k.liga tolerance: 0.59

Problems: underweight

<

'wdth=125.0’

midway interpolation

31



Glyph name: f_k.liga.color1 tolerance: 0.59

Problems: underweight
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G|yph name: e|ght tolerance: 0.66

Problems: underweight
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Glyph name: eight.color1 tolerance: 0.66

Problems: underweight

midway interpolation
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tolerance: 0.80

Glyph name: AE

Problems: underweight

'wdth=125.0 midway interpolation
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Glyph name: AE.colorO tolerance: 0.80

Problems: underweight
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G|yph name: eth tolerance: 0.85

Problems: underweight
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Glyph name: eth.color1 tolerance: 0.85

Problems: underweight
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G|yph name: X tolerance: 0.92

Problems: underweight
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Glyph name: X.colorO tolerance: 0.92

Problems: underweight

'wdth=125.0 midway interpolation
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Glyph name: z
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Glyph name: z.color1 tolerance: 0.93

Problems: underweight
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Glyph name: Flowers tolerance: 0.95

Problems: underweight

'wdth=125.0’ midway interpolation
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Glyph name: Flowers.colorQO tolerance: 0.95

Problems: underweight
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Glyph name: FlowersO1 tolerance: 0.95

Problems: underweight
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Glyph name: FlowersQO1.colorQ tolerance: 0.95

Problems: underweight

'wdth=125.0’ midway interpolation
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G|yph name: zero tolerance: 0.95

Problems: underweight
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Glyph name: zero.color1 tolerance: 0.95

Problems: underweight

midway interpolation
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